Eftk=t2

EHEDO HMRGL

F 3 1 S
ITEES
TE4

K TS
AfLH

. FEfli+E

7. (B AALIAE R EE MR

akrownhN =

o

AR R (RSEMEEANLT)

ZAaR T KREFHAT

T#EMKHO7 —025
NHE BRAVTFTUORAEE (BBRMAEE) (R2ZEHIE) (BE) IS
FEMFESHZARR LARTESE HA
SF3FE4H 148

54,971,400 FH@iAHA)
48,170,188 H(FiAH)

49,974,000 A(FitkE)
43,791,080 A(Fith=E)

8. KI&H|prE A 41,180,080 A Fith=)
({2551l FER ] _
3_55 3 3 7 §$1ﬁﬁ§
AMEZ mf}'ﬁ“ hu(:%ﬁ“ B R+ ME R )\#&Dﬁﬁﬁ 3. @ x e
1,000,000
BEFar2)—k % (H 100.00 14.50 11450 | 49,800,000 2.29920 EAL
[{f4& LLoY D 5Tl §E R )
mE S o fFMIIEB R UM S
AFLES EES M L 8 B ME S5
1 BE H|mEFemmsoss|ih i
RET RG] REmE T - T |EaseRoR =W
BFar o) —k T % (8 100.00 250 - 3.50 3.00 5.50 14.50




